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1. Choose the appropriate option that gives the interrogative of the following sentence -
That was not an example to be followed. .
(1) Is this an example to be followed? (2) Was this not an example-to be followed?
(3) Was that an example to be followed? ) (4) Is this-not an example to be followed?
2. Change the following sentence into indirect speech - !
Sarita said to.me, “I will do it now or never”.

(1) Sarita toid me that I would do it then or never. - j

(2) Sarita told me that she would do it now or never.
(3) Sarita told me that she will do that now or never. . |
(4) Sarita told me that she would do it then or never. 1
3.  Choose the correct tense - _ '
The clerk ...cocovvveerniruvenennes the money from the bank by ore o’clock. 4
(1) has withdrawn (2) will have withdrawn ‘
(3) is withdrawing - (4) had been withdrawing l

4. Fill in the blank with appropriate determiner -

T Delhi was without electricity last night. l
(1) Many of (2) Mostof |
(3) Eachof . 4) Oneof ' 1

5. Do as directed -
Who were you taught grammar by? (Change into Active) ‘

(1) You were taught grammar by whom? (2) Who teaches you grammar?- :

(3) Whom did you teach grammar? (4) 'Who taught you grammar? ' 1

6. Choose the option which best expresses the meaning of the idiom - _ _ .
Harassed by repeated acts of injustice, he decided to put his foot down.

(1) resign (2) notto yieid
(3) withdraw (4) accept the proposal unconditionally
7.  Fill in the blank with an appropriate modal auxiliary - ‘
She ........... eeareaseanes have told me she was going to stay out all night.
(1) ‘-ought (2) might
(3) shall @ wil
8. ‘Hll in the blank with preposition -
After the advice of his father, he was reconciled ....... Seeneerrrinees his wife.
(1) into (2) by
(3) with 4) to

9. Choose the appropriate affirmative of the following sentence -
I never in my life made a plan and failed to carry it out. '
(1) Whenever I had made a plan in my life, I had carried it out.
(2) Whenever I planned in my life I' was successful.
(3) Thad been successful whenever 1 had made a plan in my life.
(4) Whenever I made a plan in my life, I carried it out. |
10. Fill in the blank with an appropriate modal auxiltary -

YOU cooiciiciieniennn have woken me up. I don’t have to go to wc;rk today.
(1) could not (2) may not

(3) need.not (4) darenot
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11.

12.

13.

14.

15;
16.
17.

18.

19.

20.

Do as directed - )
The news of his murder was not correct. (Change into a complex sentence)
(1) The news was not correct of his murder. '
(2) The news was not correct because he was murdered.
(3) The news that he was murdered was not correct.

’

(4) The news about his murder was but not correct. ST
Change the following sentence from Indirect to Direct Speech -
1 said to the boys that they should do their duty.
(1) Isaid to the boys, “You should do your duty”.
(2) Itold the boys, “You ought to do your duty”.
(3) Itold theboys, “You will do your duty”.
(4) Tsaid to the boys, “You need to do your duty”.
Do as directed - '
He is sometimes foolish. (Change into Negative)
(1) Heis not sometimes wise. (2) Heis not always wise.
(3) He is never wise. (4) He is sometimes wise.

Do as directed -
Shall I ever forget those happy days? (Change into Passive)
(1) Would those happy days ever forgotten?
(2) Will you be ever forgotten those happy days?
(3) Will those happy days be éver forgotten?
(4) Shall those happy days ever forgotten by you?
Choose the appropriate passive voice of the following sentence -
You must endure what you cannot cure.
(1)  You should endure what you cannot cure. (2) What cannot be cured must be endured.

~ (3) Let you endure what you cannot cure. @ All of the above
Fill in the blank with the correct preposition - _
He left the firm because he did not agree ................... their sales policy.
1) with (2) of
(3) by 4) on
Insert an appropriate modal in the sentence given below -
Speak carefully lest you ........ eeerrserenrens falter.
(1) should (2) would
(3 must (4) oughtto
Fill in the blank with the correct article - ,
With ............. little patience, you will be. able to cross this obstacle.
M an . o @ a
(3) the, (4) Zero article
"Fill in the blank with the correct verb form -
“I save ¥ 5000 a month. I started in January. So by the end of the year, I ................. reeerenerans Z60,000.”
(1) saved ' . (2) hadsaved
(3) ‘havesaved (4) will/ shall have saved

Change the verb in the following sentence from Active to Passive -
People hoped that the government would take some action.
(1) F was hoped by the people that the government would take some action.

(2) It shall be hoped by the people that the government would take some action.
(3) It will bé hoped by the people that the government would take some action.
(4) Itmay be hoped by the people that the government would take some action.
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21.

22

23,

25.

26.

27,

28,

29.

30.

Do as directed -
Gray, the author of the Elegy, lived in. the eighteenth century. (Change into complex)
(1)  Gray who is the author of the Elegy, lived in the.eighteenth century.

(2) Gray who was the author of the Elegy lives in the eighteenth century:
(3) Gray lived in the eighteenth century who is the author of the Elegy.

(4) The Elegy that Gray wrote lived in the eighteenth century.
Fill in the blank with the correct verb form -

We were told that the manager could not see us at that mioment, as be ........c........... some letters to his
secretary. ) ' : :
(1) was dictating ' (2) were dictating
(3) had been diétating _ (4) had dictated
Fill in the blank with an auxiliary verb -
& i (PSRRI you, I'd think twice about
(1) am o (2) was
3) willbe — @ were

. “Do you see what I see, Mary?” Said the youngnan. (Change into Indirect)

(1) The young man asked Mary if she had séen what I saw.
(2) The young man asked Mary if she saw what he saw.
(3) The young man asked Mary if 1 saw what she saw.
(4) The young man asked Mary if she had seen what I saw.
Convert the following sentence from Direct to Indirect speech - _
He said to us, “Are you going away today?” ' -
(1) He asked uvs if we were going away today] :
(2) He inquired of us whether we were goingaway that day.
(3) He demanded of us whether we were goifilp away that day.
(4) He told us if we are going away the same day.
Convert the simple sentence to a complex one -
On being punished, he wept. ' :
(1) 'When he was punished he wept. (2) 'When he wept he was punished.
(3) When punished, he wepted. : (4) When punished he was wept.
Fill in the blank with the correct determiner - )
e of what he said was very sens1bleﬁ
(1) Much _ 2) Such
(3) Afew c‘% (4 Many ( 4
Choose the appropriate assertive statement of the following 1nterrogat1ve sentence -
Why waste time in reading trash?
(1) It is foolish to waste time in reading trash. (2) . It is foolish wasting time reading trash.

(3) Reading trash is wasting time. (4) Wasting time in reading trash is foolish.
Choose the appropriate Indirect statement of thg-followmg -
He said, “Let us wait for the award.” N

(1) He proposed that they should wait for th‘g'iward. _

(2) He proposed that we should be waiting fo# the award.

(3) He proposed to wait for the award. '

(4) He requested them that they should be waiting for the award. -
Fill in the blank with thé correct preposition -

You should provide .....ccccocvereveeeeeens your old age.
(1) with . (2) for
(3) against 4 to
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40.

41.

31.

32.

33.

34.

35.

36.

37.

38.

'39.

The idiom ‘by hook or by crook’ means ..........cccececrvenen

(1) by permission 2 by request

(3) by any means (4) by noble means
Transform the given compound sentence intgy complex sentence -

Cancer is curable and everybody knows thisN

(1) Cancer is curable is know to all. S (2) Cancer is curableiwas a known fact.
(3) Everybody knows that cancer is curabl®. (4) Everybody knows that cancer be cured.
Fill in the blank with a correct phrasal verb -

The soldier has no choice but to ................. his officer’s orders.
(1) carry away (2) carry out
(3) carry on 4) carry through

Transform the following assertive sentence into interrogative sentence (without changing the

meaning) - )
‘It was a wonderful experience’. S‘..l
Select the correct option to answer - oy
(1) Was it a wonderful experience? % (2) Were it a wonderful experience?
(3) Were it not 2 wonderful experience? (49) Was it not a wonderful experience?
Fill in the blank with the correct verb form -
WhenlI............. rereresassenes my dinner, I went to bed.
(1) hashad (2) have had
(3) had had @ did
Do as directed -

Finding himself in difficulty, he went to his @ﬂcher for help. (Change into compound)
(1) -Although he was in difficulty yet did Egt go to teacher for help.
(2) He found himself in difficulty but he fBver went to his teacher for help.
(3) He went to his teacher because he was in difficulty.
(4) He found himself in difficulty and went to his teacher for help.
Fill in the blank with the correct prepositicn -

Although he is blind, he is very fast ........cccocurninnae calculation.
(1) in gﬂ\l (2) with
3) at v (4) about
She broke down in the middle of her speech %ere ‘broke down’ means........cocrerrereiraenns
(1) laughed o (2) became angry
(3) started crying 4 giggled
Fill in the blank with the correct form of the tense -
| RO into town later on. Do you want a lift?
(1) drive (2) will be driving
3) drove (4) have driven

Fill in the blank with the appropriate determiner -
................. information he-had was not quite reliable.

(1) Little (2) Afew
3 Many (4) Thelittle
Fill in the blank with the correct phrasal verb -
While in Delhi, I always .......ccccceceruene. in a hotel. :
(1) putoff (2} putdown
(3) putup 4) putby
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42. Fillin the blank with the correct preposition -

43,

45.

46.

47,

51.

48.

50.

His conduct is bad and his honesty T3 11+ OO suspicibn.
(1) in (2) beyond
(3) under (4) above

Fill in the blank with a suitable article -
srererenenerans honorary secretary is one who is not paid for his services.

@. A (2) An

3) The @ Zero asticle
Change the verb in the following sentence from Passive to Active voice -
It disappoints me that the Committee has adopted an uarealistic policy.

(1) Igot disappointed when I knew the Committee has adopted an unrealistic policy.

(2) I was disappointed to knew that the Committee has adopted an unrealistic policy.

(3) Iam disappointed that an unrealistic policy has been adopted by the Commnittee.

(4 Ifelt disappointed when I know that the Committee has adopted an unrealistic policy.
Read the following passage and answer questions given below — (Q. No. 45 to 49)
Speech is a great blessing but it can also be a great curse, for while it helps us to make our intentions
and desires known to our fellows, it can also, if we use it carelessly, make our attitnde completely
misunderstood. A slip of the tongue, the use of an unusual word or of ‘an ambiguous word may create
an enemy where we had hoped to win a friend. Again different classes of people use different
vocabularies and the ordinary speech of an educated man may strike an uneducated listener as
pompous. Unwittingly, we may use a word which bears a different meaning to our listener from what
it does to men of our own class. Thus speech is not a gift to use lightly without thought, but one which
demands careful ‘handling. Only a fool will express himself alike to all kinds and conditions of men.

_According to the writer, speech can be a curse because it-can -

(1) reveal our-intentions . (2) lead to carelessness
(3) hurt others (4) create misunderstanding

The author is of the opinion that the best way to win a friend is to avoid ................ in speech.
(1) ambiguity (2)  verbosity
(3) pomposity = (4) irony

The author says that, if one used the same style of language with everyone, one would sound -
(1) democratic (2) foolish
(3) ambiguous (4) pompous

A “slip of the tongue means somethmg said -
(1) asmall piece of tongue (2) wrongly by chance
(3) without giving proper thought (4) to hurt another person

Which word in the passage is an antonym of the word ‘modest’?

- {1) Unwittingly ) (2) Pompous

(3) Misunderstood @) Ambigiious

Identify the figure of speech used in the following line -
‘India lost by seven wickets.’ .

(1) Simile ‘ (2) Synecdoche

(3) Metaphor 4) Oxymoron
Both the instructional and nurturant effects of advance organizer model is given below. Find out
which are the instructional effécts of this model?
A. Conceptual structure
B. Interest in inquiring
C. Meaningful assimilation of information and ideas
D. Habits of precise thinking

(1) AB (2) B,C

}

3 CD 4 AC
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52,

53.

54.

58.

56.

58.

59.

61.

62.

Which of the following statement gives the quintessential spirit of the poem, ‘Night of The Scorpion’?
(1) - Selfless love of the husband for his wife.
(2) Selfless love of the community for the patient.
(3) Selfless love of the mother for her-children.
(4) Selfless love of the wife for her hushand.
What game do the characters play in Act IT of The Birthday Party?

(1) A game of cards _ ) (2) Blindman's buff
(3) - Musical chair : © (4) A game of chess
The figure of speech employed in the expression, “When to the sessions. of sweet, silent thought” is -
(1) Simile (2) Metaphor
(3) Hyperbole ' (4) Alliteration

Regarding influences on cognitive development Piaget identified four factors that interact to influence
changes in thinking. Find out which one-is not included within four factors?

(1) Biological maturation . (2) Reversibility
(3) Social experiences 4) Activity
“I will be more jealous of thee than a Barbary cock-pigeon over his hen ..........” who said to whom?
(1) Oliverto Celid - (2) Rosalind to Orlando
(3) Silvius to Phoebe ‘ (4) Jaques to Adam

Which one of the following descriptions best portrays Michael Hénchard in “The Mayor of
Casterbridge’ by Thomas Hardy?

(1) Heis generally cheerful and kind but not very intelligent.

(2) Heis deeply flawed but the reader feels sorry for him.

(3) He is a thorough villain with no redeeming qualities at all.

(4) He is a better than average husband and father.
Which one of the following images is not depicted on the ‘Urn’ by Keats in ‘Ode-On'a Grecian Urn’?

~ (D Young couple fighting with each other (2) Cow being led to an altar

(3) Man-woman lying under a tree (4) Group of men chasing a group of women
Which of the following statement is true regardmg Jane’s dislike of Henchard in Hardy’s The Mayor

of Casterbridge?
(1) Elizabeth-Jane came to know that she was the daughter of Newson.

(2) She was discouraged and stopped from meeting Newson. )
(3) She was not allowed to have any relationship with her mother after her marriage with
Farfrae.
(4) Shecame to know that her mother was sold at a fair by Henchard. :
In Harold Pinter's The Birthday Party, the broken -drum which symbolises decline on mental

instability represents -
(1) Goldberg . (2) McCann
(3 Stanley (4) Petey
The nature of Educational Psychology is nothing but - -
(1) taking anything for granted (2) answer question like “what ought to be”
(3) scientific | i (4) unreliable

A general approach that view learning as an active mental process of acquiring remembering and
usihg knowledge is known as - :

(1) 'Trial and Error theory of learning (2) Social theory of learning

(3) Cognitive view of learning (4) Humanistic view of learning
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63.

64.
65.

" 66.

67.

68.

69.

70.

71.

72.

73.

The theme of the poem “Goe and Catch a Falling Starre” is the impossibility of -

(1) Getting a child from a mandrake root (2) Catching a falling star

(3) .Hearing mermaids singing (4) Finding a true woman
A formal letter starts with - ' -

(1) Date (2) Subject

3) Sengér’s address (4) Receiver’s address

Which of the following is an example of a literary ballad?
aQ ‘On%rst looking into Chapman’s Homer’ (2) ‘La Belle Dame Sans Merci’
(3) “The Rape of the Lock’ (4) ‘The Conscious Lovers’
Below some name of scholars are given who worked in the field of Educational Psychology, out of

‘them who simply defines Educational Psychology as “Science of Education”?

(1) Ebbinghaus (1971) (2) Crow and Crow (1973)

(3) Skinner (1958) : 4) Peel (1956)
According{f® Bacon, the study of which subject makes men ‘grave’?

(1) History (2) Mathematics

(3) Philsophy 4 Physics

“Each like a’corpse within its grave”. Choose the appropriate option from those.given below, which
refers to the word ‘Each® in the above quote from the poem “Ode to the West Wind” by

P.B. Shelley - !
(1) clouds {2) seeds
(3) body (4) ghost

A teacher is applying the principle of classical conditioning in classroom as given below. Find out
which one% not related to theory of classical conditioning?

(1) Assfciating positive, pleasant events with learning task.

2) Assﬁgiation of two events with repeated pairing.

(3) Making praise really reinforcing. -

(4) Helping students to recognise differences and similarities among sifuation so they can

discriminate and generative appr.opnately

In The Waste Land, the title of the second section- ‘A Game of Chess’ has been borrowed from which

of the folloc%lng writers?
@ Iohﬂ:_ij'lctcher (2) .Thomas Middleton
(3) BengJonson (4) John Webster

. In The Vendor of Sweets, the white bearded person, a sculptor, who influenced Jagan and brought

about his transformation is -

(1) Peria Dorai (2) Chinna Dorai
(3) Natraj .' (4) Mali
Which of the following is the correct phonetic transcription of educationalist?
(1) edsu'kerfnolist ‘ (2) ,edsuke[noalist
(3) edsu'kerfnelist (4) "~ eédukadifnelist
In the play As you like It, which of the following characters introduced Duke senior to his daughter
" Rosalind?
(1) Oliver (2) Orlando
(3) Hymen , (4) Jaques
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74. . A type of fiction which lacks the exotic 'settihg of romances but develops a brooding atmosphere of -
gloom and terror is called -

(1) Ode (2) Allegory
(3) Gothic (40 Melodrama
_ 75. 'Why is Macduff's birth so important to the plot of the drama Macbeth? Choose the appropriate
answer -

(1) Macduff is related is Macbeth.

‘ (2) Macduff helps Malcolm to defeat Macbeth. ﬂ
| (3) Both Macbeth and Macduff were born in the same way. =
| (4) Macbeth cannot be killed _by a man born naturally of a woman: %
‘ 76. What did the first apparition tell Macbeth?
(1) Beware of Macduff the Thane of Fife (2) Be bloody, bold and resolute
(3) Beproud and take no care @) Seek to know no more
77. A formal and sustamed Jament in verse for the death of a particular person(s) usually ending in a
consolation is -
(1) Ode (2) Elegy - )
(3) Lyrc (4) Gothic %
78. Compensation and rationalization are examples of - =
(1) Displaced hostility (2) Defence mechanism o
(3) Direct methods of adjustment (4) Non-adjustive reaction o
79. Who is described as ‘throbbing between two lives in The Waste Land?
(1) Phlebas (2), Mr. Eugenides
(3) Tiresias (4) The typist
80. Choose the appropriate speaker in Browning’s poem ‘My Last Duchess’ -
1) Duke of Somerset (2) Duke of Ferrara '
(3) Duke of Sussex (4) Duke of Clarence .;“'f,
, 81. Which word has this.sound in it ‘I’? , —
E (1) Sheer (2) Share 2
(3 Dire - (4) Dare
82. According to Bacon, to spend too much time on studies is -
a affectation (2) humour
(3) sloth (4) craziness
83. Fromthe following, find out,which one is not a kind of chart? ,ﬁ
(1) Posten (2) Tree chart -~
(3) Flow chart (4) Time chart %

84. Which one of the following is not a basic assumption of computer assisted instruction?
(I) Itcan serve an individual student of a time.
(2) It has capacity of providing quality and quantlty auto instruction.
(3) Automatic recording of the learner’s performance.
(4) Variety in theuse of methods and techniques.
85. Here’s the smell of blood still all the perfiimes of Arabia will not sweeten these little hands. Identify
the figure of speech in the above lines -
(1) Irony (2) Personification
(3) Oxymoron (4) Hyperbole
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86.

87.

88.

89.

90.

91.

92.

03,

9.
95.
96.

97.

In the essay ‘In Praise of Chimney Sweepers what does the morning ‘Sweep Sweep’ by the chimney
sweeper sounds like to the writer?

(1) Sound of nightingale (2) Sound of breeze

(3) Sound of the sparrows (4) Sound of the cuckoo
An allegory is a story in which -

(1) characterss, settings and symbols have magical powers.

« (2) characters, settings and symbols have futuristic dimensions.

(3) characters, settings and symbols stand for each other.

(4) characters, settings and actions stand beyond their literal meaning.
In working and organizational structure of the subsystems of a computer, one subsystems is
responsible for all types of data manipulation and computation with accuracy and speed, it is called -

(1) Arithmetic and Logic Unit : (2) Memory

(3) Imput 4) Output
Choose the option with the correct stress mark -

(@) elec'trical (2y op'tical

(3) fal'lacious (4) notor'ious

Emotional Intelligence in a number of ways, comprises many personality traits such as motivation,
persistence, warmth and social skills. Out of the following which can be added-to these traits to
explain emotjonal intelligence?

(1) Distress (2) Repulsion

(3) FElight or escape " , (4) Empathy
Identify the figure of speech used in the following line -
“Faith unfaithful kept-him falsely true.”
(Tennyson, Idylls of the King) .

(1) Simile (2) Synecdoche

(3) Oxymoron (4) Alliteration A
Which of the following characters in-Cry, The Peacock disdained to discuss Astrology and Palmistry
as puerile subjects?

(1) Maya 2) Harbans

(3) ° Gautama. 4) MrLall .
What does Silvius say of Phoebe's eyes? _ o

(1) They are so dull that they bore him.

(2) They are so scornful that they will murder him.

-(3) They are so amorous that they embarrass him.

(4) They are so beautiful that they intimidate him.
Of the following, choose the word with the correct stress mark -

(1) bio'logical : (2) pat'hetic
(3) ‘chemi'cally ' (4) atro'cious
Which one of the following is a projected.with teaching aid?
(1) Charts (2) Reference books
(3) Slide : (4) Globe
Which of the following comparisons is not a metaphor?
(1) Lifeis along journey (2) The ship of life
(3) Lonely as a cloud (4) Time is a reaper

Choose the appropriate meaning of the word ‘Wealth’ given in the line below -
“What wealth the show to me had brought™? :
(1) Money © (2) Daffodils
(3) Bliss 4 S(()l_itude:
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107.

108.

109.

110.

Choose the statement that does not give the advantage of precis writing -

(1) It enhances concentration. (2) Itis a practice in reading.

(3) Itis a practice in detail writing. . (4) Ris apractice in effective writing.
Shelley’s tone in his “Ode to the West Wind” is -

(1) irreligious . (2) sarcastic

(3) stoic , (4) prophet1c
Pick out the correct phonetic transcriptions for the words: ‘peace’ and ‘piece’ (as per trad1t10na1 IPA).

(1) /pis/ and /paiz/ (2) /pi:s/ and /pi:s/

(3) /pis/ and /prs/ (4) /pais/ and /peis/
“Sweet are the uses of adversity which like the .....cccccoeeveunnee. , ugly and venomous wears yet a
precious jewel in his head”. Choose an appropriate word from below to fill in the above blank -
"(1) snake (2) toad

(3) vampire (4) spider

In “The Vendor of Sweets’ by R.K. Narayan, Wthh books is to be published by the Truth Prmtmg
Press?
(1) Nature Cure and Nature Diet . (2) Nature Diet Cures
(3) Cure through Nature Diet (4) Nature Diet that Cures Naturally
Which of the following is not a feature of report writing?
(1) 1t is aseries of facts based on evidence of some kind.
(2) The information they provide can usually be checked.
(3) Itis aimed at readers with a specific interest in the subject.
(4) The reports do not have any rules or conventions about the presentation.
What is the theme of the novel The Vendor of Sweets by R.K. Narajyan?
(1) Man's quest for identity and self-renewal. (2) Appearance versus Reality.
(3) Capitalism's effect on the individual. (4) Emptiness of attaining false dreams.
In models of teaching, the search for.and listing of attributes can be used to distinguish exemplars
from non-exemplars of various categories is called -

kS

(1) Concept formation (2) Positive concept
(3) Concept attainment (4) Negative concept
“Water water everywhere, but not a drop to drink” is an example of which figure of speech?
(1) Simile . : (2) Metaphor
(3) Hyperbole (4) Irony
A creole language is -

(1) amixed language with a simplified grammar that people rarely learn. as a mother tongue

(2) aslang language

(3) apidgin language _

(4) alanguage of mixed origin-that developed from complex blending of two parent languages
Choose the right word to complete the epigraph to The Waste Land, ‘For I saw with my own eyes
that Sybil of Cumae hanging in a cage and the boys were talking to her: “What do you want Sybii?”
She answered, “I want to....... .

(1) live . (2) lie

(3) die @) cry
Human contract mental models or schemas are continue to revise them to make better sense of their
experiences. It is the view of - :

(1) Social constructivism (2) Social learning theory

(3) Systematic behaviour theory ' (4) Cognitive constructivism
What was Orlando's inheritance in ‘As you like it’?

1 A hundred thousand crowns (2). A thousand crowns

(3) Twenty thousand crowns (4) Three thousand ducats
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111.

A Petrarchan sonnet usually contains -
(1) three couplets and two stanzas
(2) octave of eight lines and sestet of six lines
(3) four stanzas
(4) three stanzas

112, In the poem “On his Blindness™ Milton is concerned about - '
(1) His poetic incapacity (2) His loss of eyesight
(3) His love for life (4) God’s indifference
113. Which one of the following statement is true of ag.Fpic?
(1) A long verse narrative on a serious sub]ect:‘tbld in a formal and elevated style.
(2) A song transmitted orally which tells a stogy. to literate persons.
(3) A long lyric poem elaboratéd in its stanza@tructure
(4) Asymbolic fictional narrative that conveys a meaning, not explicitly set forth in the narrative.
114. The social context also plays a vital role in individual’s life. According to Bronfenbrenner’s
Ecological theory in which system the individual spends considerable time such as the student’s
family, peers, school and neighbourhood?
(1) Microsystem (2) Mesosystem
(3) Exosystem ‘@) Macrosystem
115. Below some characteristics of the system are givgfl. Find out which one is not true?
(1) System in nearly a sum total of its parts oxElements.
(2) Itis asystematic organization of interfelat®d and interdependent parts or elements.
(3) Inthe system all the parts or elements have their respective roles.
(4) Itis a self-governing, self-maintaining and self-regulating structure.
116. 'Which one of the following is an internal barriers of communication?
(1) Poor physical health and illness o2) Environmental and physical discomfort
(3 Invisibility - $N4) Polluted envuonment
117. 'Which syllable is stressed in' the following word‘?«—-
Expensive - c*’)
(1) expensive . 2) expensive :
(3) expensive (4) -expensive
118. Cooperative learning strategy has some assumption and features. From the below, find out which one
is not true? o
(1) It makes teaching learning process as Ieam%lr centred rather than content as teacher centred.
(2) It deviates from constructive ideology forghe better teaching learning outcomes.
(3) Itbelieves in group effects and cooperatio?l)among learners.
(4) It believes in the role of teacher as a capable facilitator.
~119. Which of the following is not required for an informative report?
(1) Date and place of the event (2) Give a personal point of view
(3) Facts to be accurate (4) Brief and concise
120. What was the colour of tattoos on the cheeks of the Eunuchs as described by Kamala Das-in her poem,
‘The Dance of the Eunuchs’? -
(1) Black (2) Red
3) Yellow (4) Green
121. Choose the appropriate statement that should not be included in a business letter -
(1) A business letter is to be written on a letter head.
(2) Reference number and date should be mentioned.
(3) Personal salutation ‘Your’s Obediently’ should be used.
(4) The recipient address should be in a block form.
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128.

129.

‘Which of the following is not a prophecy of the witches in the Shakespeare's Macbeth?

(1) Banquo will beget kings

(2) Macbeth will be Thane of Cawdor

(3) Macbeth shall murder the king

(4) Banguo will be lesser than Macbeth, but greater ' )

A figure of speech in.which inanimate objects and abstract ideas or qualities are spoken of as if they
were persons or human beings is defined as - .

(1) Oxymoron o (@ Synecdoche

(3) Personification “f_\j (4) Irony
Which of the following statement do not re% to adjustment?

(1). Adjustment is the modification to cotfipensate ‘or meet special conditions.

(2) Adjustment is the establishment of a satisfactory relationship.

(3) Adjustment is a process that fails to satisfy individual and ‘social needs.

(4) Adjustment is the process of finding and adopting modes of behaviour suitable to the

pl

environment.
Bacon, in his essay, ‘Of Studies’ states, “Some books are to be ..........ooceeeueeee , others to be swallowed,
and some few to be chewed and digested.” 9?11_ in the blank with the appropriate option -
(1) read — (2 tasted
(3) skimmed % (4) absorbed

In a letter written on her deathbed, what does Susan confess to her .husband in The Mayor of

'Casterbridge?

(1) She never loved him. '
(2) Elizabeth-Jane was not his daughter but rather the child of the sailor to whom he had sold
them. > _
(3) She and Elizabeth-Jane were abusedS_Bjr the man to whom Henchard had sold them.
(4) She had amassed a great fortune afterbeing sold.
For improving the process and product of e system related to teaching and learning, which of the
following need to be improved?
A. Who is being taught?
B. By whom the learner to be taught?
C:. What is to be taught?
D. How it should be taught?
(1) A,B,C 2 B,CA,D
3 D,C,B 4 CD,B
Froin the following, which one is a moderngmformation communication technology?
(1) Print media in the form of text and reference book.
(2) Multimedia, personal computer, laptop and notebook.
(3) Graphical material such as pictures and charts.
(4) Audio-visual hardware like radio and television.
Who did cast the statue of Neptune as mentioned by the Duke in ‘My Last Duchess’? -
(1) Fra Pandolf (2) Claus of Innsbruck

(3) Michelangelo (4) Donatello

01129
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130, “Pets might not mean anything to you and yet they mean the world to me.”
Of the following, choose the speaker of the above quote from Cry, The Peacock -

(1) Gautama (2) Maya

(3) Nile - (4) Mrs Lall
131. In the novel The Mayor of Casterbridge, a skimmity-ride procession is taken out to shame, which of

the following characters? : ‘ '

(1) Henchard - Lucetta (2) ‘Lucetta - Elizabeth-Jane

(3) Farfrae - Lucetta ' (4) Susan - Henchard ' |
132. What is the favourite beverage of the chimney sweepers? ’ | w‘-:

" (1) Sassafras tea (2) Coffee ;
(3) Betel nuts i (4) Saloop

133. Macbeth had been confident of his victory but he becomes afraid when the army reaches the castle.
Choose the most appropriate reason for Macbeth's frustration -
(1) Macbeth did not realize how large the army was
(2) He could not find his armour
(3) He feels helpless without his wife
(4) When he saw the Birnam Wood moving towards the castle
134. In education system, the attainment .of éducational objectives belong to which parameter of the

system? '
(1) Input (2) Process
(3 Output (4) Environment
135. The strophe, the antistrophe and the epode are three major parts of -
(1) Sonnet (2) Epic
(3 0dé (4) Bailad
136. Which tree did Jagan call ‘Ambrosia’ in The Vendor of Sweets by R.K. Narayan?
(1) Magnolia @ Mangrove
(3) Mahogany ' (4) Margosa “
137. Inthe cognitive perspective, knowledge that is demonstrated when we perform a task-“knowing how” E
is called -
(1) Declarative knowledge (2) Procedural knowledge
(3) Conditional knowledge (4) Mirror system r
138. The basic aim of precis writing is- .
(1) Compression and Suppression (2) Comprehension
(3) Expansion (4) Paraphrasing

139. Toimplement cooperative learning strategy. in the classroom situation some conditions are essentially
required. From given below, find out which one is not required?

(1) Lack of social skills on part of students (2) - Group rewards are generated . J
(3) Individuals-are held accountable (4) Creates motivation to learn A
140. Which of the characters given below is described as “The belle of the ball” in the play The Birthday ;
(I) Mrs Boles (2) Lulu
(3) Nat Goldberg (4) Stanley Webber
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141. Which one of the following is not a limitation of computer assisted instruction?
(1) Itis quite expensive.
(2) Difficulties due to unavailability and usability of educational software.
(3) Instructions for a number of learners at a time.
(4) Availability of users also poses a serious problem.
142. Tkam/ '
E This phonetic transcription refers to -
(1) come (2) calm
(3) comb (4) came
143. Below some, elements of communication process are given. Find out which are very important?
- A. Source of communication
- B. Communication media
C. Content of communication
} D. Receiver of the.communication
' E. Feedback
1) ACB 2 B,C,D,A
3) D,E,C,B,A 4 E,AB,C
144. In which stage of Kohlberg’s moral development theory individual value trust, caring and loyalty to
others as a basis of moral judgement?

(1) Stage2 (2) Staged

(3) Stage3 . {4 Stage5 4
- 145. On arriving in Casterbridge where does Susan expect to find Henchard in Hardy's The Mayor of
’ Casterbridge? _

(1) Inabrothel , {2) In the stocks

(3) Inthe fields - {(4) InMayor'soffice

146. According to Banquo, the ministers of darkness betray us into -

(1) deeds of little consequence (2) deeds of slight consequence

(3) deeds of no consequence ' (4) deeds of deepest consequence

147. According to the importance of emotional intelligence as given by Daniel Goleman, which one of the

following is not true?
(1) 'Emotional intefligence may be the best predictor of success in life.
(2) Im working situations emotional intelligence helps more.
(3) IQ and even standdrd-achievement tests scores predict any person’s suecess in life.
. (4) Emotional intelligence helps to know for being productive and happy.

148. In the central processing.unit the memory which used by computer for storing the programmes and
their data while working on them. It is possible to use any location in the memory at random to store
data and instruction temporarily. Such memory is called as -

(1) Read Only Memory (ROM) (2) Exfernal Memory
(3 Random Access Memory (RAM) (499 CDROM

149. Which of the following statement about ‘pidgin’ language is incorrect?
(1) Itis grammatically simplified means of communication.
(2) The two groups have a common language.
(3) The vocabulary and grammar are drawn from several languages.
(@) Itis constructed impromptu.

- 150. Nerve cells that store and transfer information in an adolescent brain is called -

(1) Pons (2) Amygdala
(3) Neurons (4) Thalamus
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